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⎠∆S  =  nC ln

∆Hrxn = ∆H1  +  ∆H2  +  ∆H3  +  …

∆H°rxn = ∑n∆H°f (prod)  –  ∑n∆H°f (react)

∆G°rxn = ∑n∆G°f (prod)  –  ∑n∆G°f (react)

∆S°rxn = ∑nS° (prod)  –  ∑nS° (react)

∆H°rxn = ∑BEbreaking   –   ∑BEmaking

∆G = ∆H  –  T∆S 

G = H  –  TS 

∆U = ∆H  –  P∆V 

H = U  +  PV 

∆Htrans
Ttrans

∆Strans  = 

qrev

T
∆S  = 

S = k lnΩ

w = –P∆V w = –∆nRT 

∆U  = ∆H  –  ∆nRT 

qcal  = qwater  +  qhardware   

qsys  =  – qcal 

∆H  =  qp 

∆U = q + w 

PV = nRT

P(V – nb) = nRT

Ptotal = PA + PB + PC + …

E = hv

c = λ·v

ℛ = 1.097 × 107 m-1 
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